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Which restaurant did writer go?

Ans:-

When did Janaki and her parents leave for England?
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What is the permissible age for driving a commercial vehicle?

Ans:-

What happened to the hundred year dash?

Ans:-

What do you mean by expression "a single body breathes like our"?

Ans:-

What did the child gather in the grove?
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Do as directed
Our examination starts next week.

(mention tense and time)
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Our school will have been cleaned by tomorrow.

(Find out the main verb)
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Last week, [ used to get up at 6 am.

(Correct the error)
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The more he earns, (much, spend)

(Complete the second part using adjective and verb given in brackets)
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